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% 22 [[] SHMA4FE9 R (SMM4EE) 25.1% 68 = 68.0 %
%21 [ XEBREPLE
% 20 1 SHM3FE1 A (SHM2EE) 28.2% 70 | 70.0 %
F 19 [ SM251 A (SHNTEE) 27.0% 62 = 62.0 %

X1 B22EFHREIR—= - &=

CERER (2R 45+l 10R

X2 FH19ME - FOERARESR-—AFR (12K S0M100RER) LY FET.

BEH00RBR) EBYFET,

HBEBED (S5 amg | TEEERS ) ey
%18 [E TR 31 HE 1R (k30 F5E) 28.4 % 83 R 66.4 %
F17E FR30F 1R (k29 F5E) 28.0 % 80 R 64.0 %
%16 @ T 29F 1R (k28 &) 27.8 % 85 = 68.0 %
% 15[ T 28 F 1R (k27 &) 27.1 % 77 R 61.6 %
%14 [E TR 27TE2 A (FEm 26 £E) 280 % 90 = 72.0 %
%13 [E TR 264 2 B (EAk 25 ) 28.0 % 88 m 70.4 %
FE12M[ME TR 2542 7 (k24 FF) 27.4 % 87 R 69.6 %
E11[E T 24F2 7 (k23 FF) 28.6 % 86 R 68.8 %
F10ME TR 23E2H (EM 22 £E) 216 % 70 = 56.0 %
% 9 T 22F 2R (Eik 21 F£5E) 28.8 % 75 R 60.0 %
% 8 [ FR21E2 8 (Em 20 £E) 28.0% 76 = 60.8 %
% 7ME FR20E2 7 (i 19 FEF) 273 % 80 R 64.0 %
% 6MmE FRI19F 2/ (Fk 18 £&F) 28.1 % 81 = 64.8 %
% 5ME FRI8E2H (Ei 17 £EF) 28.7 % 75 R 60.0 %
% 40 FWITHE2R (i 16 F£5E) 26.1 % 81 =R 64.8 %
% 3@ TR 16 F 2R (i 15 F5E) 31.4 % A= 56.8 %
B 2ME FRISE2H (Ei 14 £EF) 49.7 % 73 R 58.4 %
B 1mE FRI14ETH (i 14 FF) 66.1 % 75 R 60.0 %
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